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———— INSTRUCTIONS

1. Please comectly fill your Roll Number in O.M.R. Sheet.
Candidate wilt themself be responsible for filling wrong
Roll Neo.

2. At the start of the examination before attempting the
question paper kindly check your test booklet and OMR
Answer Sheet and ensure that -

+ The serial numbers of test booklet and OMR answer sheet
are same.

e All pages of te st booklet and OMR answer sheet are
properly printed. All questions from S. No. 1 to last 8, No.
150 are printed and pages from S. No. 1o last S. No, 24 are
there in the question booklet.

In case of any discrepancy / defect the candidate should

immediately report the matter to the invigilator for replacement

of test booklet and OMR answer sheet. No claim / objection in
this regard will be entertained after five minutes of start of
examination. Candidate will be liabie for it.

3. Answer all questions.

4. All questions carry equal marks.

5. Only one answer is to be given for cach question. If more than
one angwers are matked, it would be treated as wrong answer,

6. 1/3 part of the mark(s) of each question will be
deducted for each wrong answer. A wrong answer means
an incorrect answer or more than one answets for any
question. Leaving all the refevant circles or bubbles of any
question blank will not be considered as wrong answer.

7. Each question has four alternative responses marked serially
as (A), (B), (C), (D). You have to darken only one circle or
bubble indicating the correct answer on the Answer Sheet
wsing BLUE BALL POINT PEN.

8. Use of Mobile Phone/Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material found with any candidate,
strict action will be taken against him/her as per rule.

9. If there is any sort of ambiguity/mistake either of printing
or factual nature in Hindi and English Version of the question,
the English Version wil be treated as standard,

Warning : If a candidate is found copying or if any unauthorized

material is found in his/her possession, F.LR. would be lodged

against him/her in the Police Station and he/she would liable to be
prosecuted under Section 3 of the State Prevention of Unfair

Means Act, 1992 and Board Regulations, Board may also debar
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1.

During 24 hours there is a time when
plants neither release O, nor CO,. This is

the time of

(A) Noonhours  (B) None of these
(C) Daylight (D) Twilight

24 %21 % SR VG o T A B § o
98 @ 0, B TN A Co, | TE WwE
T

(A) FRTE
(C) feaw v

(B) T 4 F1g 7
(D) ATeY JHT

When the moon is near the horizon, it
appears bigger because of

(A) Scattering of light

(B) Total internal reflection
(C) Diffraction

(D) Atmospheric refraction
wa ggm e Hwfirfar e, @

% 1w w1 Tl g R |

(A) W % Yehivl

(B) quf sriafes wrads

(C) fodm

(D) ATgHSENY FTIE

What is the normal amount (approx.) of
haemoglobin in a healthy adult male ?

(A) 6 ~8 gm/100 ml of blood -

(B) 13- 18 gm/100 ml of blood

(C) 19 -22 gm/100 ml of blood

(D) 22 —-28 gm/100 ml of blood

T R T U9 O Sl frame
T () fead B & 2

(A) 6~871./100 fuelt. &

(B) 13 - 18 M./100 frelt. &

(C) 19-2271./100 freft, w5

(D) 22 -287./100 firch. =
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Match the following :

a. Apiculture 1. Grapevines
b. Silviculture 2. Honeybees

¢. Viticulture 3. Foresttrees
ﬁq@ﬁlﬁﬁq:

a. e 1. spfed

b. Fafeswear 2. wymae qree
c. Rt 3. FA-ge
Codes /52 :
a b
(A) 2 1
® 1 2
) 3 2
D 2 3

Sugar can be tested in a Diabetes patient
by

(A) Denigetest (B) Benedict’s test
(C) Barford’s test (D) FElisa test

_—— D WM

wEAgRThE_ gowdd
I HFA R )
(A) Pt (B) FMew
(C) MERI (D) WEdw
~ Fruit ripening is stimulated by
{A) Cyto-kinin {B) Auxin
(C) Gibberellin (D) Ethylene
FO U GRI IENa Srreft
2!

(A) TRA-FRFA  (B) TRE
(©) ™R (D) el

‘The word ‘Vaccination’ has been derived
from a Latin word which relates to

(A) Dog (B) Cow

(C) Horse (D) Hippopotamus
IR TR O Hew 7 & e &,

forae weu &

(A) 2B
(©) =39

(B) T A

(D) e ag & |
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Match the following :
‘Harappan Site Place
a. Kalibangan 1. Punjab
b. Mohenjodaro 2. Rajasthan
c. Harappa 3. Gujarat
d. Surkotada 4, Sindh
Preforiian = fem 9

T A _ A
a. I 1. W
b. AERS 2. TeeId
c. W 3. e
d. g 4, fou

Select the correct answer using the codes
given below :

ﬁﬁqwqﬁ%mmvﬁmg&

Codes / %2 : ﬁ

a b ¢ d
(A) 2 4 1 3
(B) 4 1 3 2
{C) 3 2 1 4
D) 2 3 4 -1

Which of the following is the correct
chronological order of the
dynasties ?

(A) Kushans, Guptas, Mauryas, Nandas
(B) Nandas, Mauryas, Kushans, Guptas

given

10.

|

(C) Mauryas, Nandas, Kushans, Guptas l

(D) Guptas, Kushans, Nandas, Mauryas

et § @ B9 W Ry U goEn w5 wd

HTeTRT & 7

(A) T, 1, ¥, 7]
(B) 7, oY, g1, 0
(C) o, e, wmon, R
(D) T, For, e, FF
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11.

Consider the following statements :

In the reign of Jahangir, Kandahar could
not be recaptured due to

1. Inefficiency of Mughal army

2. Refusal of Khurram to proceed to
that place.

3. Difficulties in
expedition. _

4. Severe cold in Afghanistan

Which of these statements ate correct ?

organizing an

(A) 1,2and 4 (B) 1,2and 3
(C) 2,3and 4 (®) 1,2,3and 4
Presffigs soalt m e st

FRITIT & AR A, YR T3S BRI
qA: iR 7 e s w1

1. TS |1 hY STHIErAT

2. glH g 36 W W EE & R

3. s sy s i wieamdat
4. FwriEE B yHE 38
I YT T E 9

(A) 1,274 (B) 1,273

D) 1,2,3 T4

The Iqta systcm was provided

institutional status by

(A) Htutmish

(B) Qutubuddin Aibak

(C) Balban

(D) Alauddin Khilji

T TUT 1 TR o= RRess g
T 7

(A) Fegat

(B) FgITEN TR
(C) T

(D) FreTegar et



12,

13.

14,

The Indian National Army was organized
to fight against “

(A) Germany and Japan
(B) Russia

(C) South Africa

(D) The British in India

e e it 1 e F

e w1 % forey e v o |
(A) T @ wEE (B) ¥8
(C) eftw anfir (D) wre # S

What is the correct sequence of the
following events ?

1. Partition of Bengal

- 2. Jallianwala Bagh Massacre

3. Quit India Movement
4. Simon Commission Report

Prafafya genaft wadi wa w2
1. &met &7 e
3. YA BIE) IR
4. qrEAR HHeE Tl

(A) 1,2,4,3 - (B) 4,3,1,2
(C) 1,2,3,4 (D) 1.4,2,3

Bangladesh was liberated on
(A) 14" December, 1971
(B) 15" December, 1971
(C) 16™ December, 1971
(D) 17" December, 1971

TN I S T T |
(A) 14 fwwm, 1971
(B) 15 fegwmw, 1971
(C) 16 fames, 1971
(D) 17 femaw, 1971
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15,
“the - Constituent

16,

17,

Who out of the following was elected by
Assembly .as its
permanent President 7

(A) Dr. BR. Ambedkar
(B) Mahatma Gandhi
(C) Dr. Rajendra Prasad

(D) Valiabhbhai Patel

= 3 @ 58 dfae aw g T SRt
SR o T A YT YT ?

(A) &, st m. I

(B) weron TEh

(C) 3. 093 T

(D) Teawaé wee

Tﬁe elective strength of the Lok Sabha -

was inc¢reased by the
(A) 44* Amendment
(B) 31* Amendment
(C) 42" Amendment
(D) 40% Amendment

F g1 i i 6 fate @
FgfgHrm
(A) 448 aveE (B) 319 TEIH
(C) 23dw (D) 403 T

The order in which the following
personalities were clected as Presidents
of India is

1. S.Radhakrishnan

2. Rajendra Prasad

3. N. Sanjiva Reddy

4. Zakir Hussain

fraffisa =frel & g % tgefa @
T TR S

1. T UUSSH 2. T R

3. W, wehEigd 4. WA

(A) 2,1,3, 4 B) 2,3,4,1

© 2,4, 1,3 (D) 2,1,4,3
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18.

Given below are two statements labelled
as Assertion {A) and Reason (R). In the
context of the two statements, which of

. the following is correct ?

19.

104A

Assertion (A) : In India, people elect
their own representatives.

Reason {R) India has deinocracy.

(A} Both (A} and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true, but (R) is false.

(D) (A) is false, but (R) is true.

4 foy g 3 aeel =i WU (A) R TE

(R) % &9 # Fafta fornrman 2 | &1 el

Faid, feddsnaumt

HYT(A) ¢ G U, TG AW &G
wfeffer g 8 )

AH(R) ¢ W T

(A) (AT R T I EIMMER), (A)F
T ST 2 |

(B) (A) W& (R) 3t wea &, T (R), (A)
N wd wE T R

(©) (A TR, TG R) AT |

(D) (A) 94 &, G4 (R) 9 § |

Which "Union Ministty of India
developed the Good Governance Index
aiming to map the good governance of
the states based on various indicators ?
(A) Ministry of Personnel

(B) Ministry of Home Affairs

(C) Ministry of Finance

(D) Ministry of Parliamentary Affairs
AE % e e g faftm d@ahaei w
Fmuif@ it % gune F1 oIa % 9eyT
grEa gEErn fepfa w0
(A) HIHF A

(B) & AT

(C) Tow wamer

(D) Huda = Haea

20. Who Was the first Vice-Chairman of

21,

NITI Aayog ?7

(A) Piyush Goyal

(B) Nirmala Sitharaman

(C) Arvind Pangaria

(D) Raghuram Rajan

Hifer Irra % ow ey Wi S 2

(A) TR TEe (B) Tnlen darem

(C) U= Tt (D) I TsH

Which Amendment Act of Indian
Constitution extended the reservation for
ten years to SCs and STs in Lok Sabha
and State Assemblies besides doing away
with reservation for Anglo-Indian
Communities 7

(A) 104" Amendment Act, 2020

(B) 105% Amendment Act, 2021

(C) 103" Amendment Act, 2019

(D) 102™ Amendment Act, 2018

yie wferar & fea g srftfem g
e 3R Ty & faum wwad o
s 9t @ sl sl %
STRET = T 3T TG 3 AT 6
e TE 3 &) 9T 3 Fore wgrr Ty 7
(A) 104at g srfifrm, 2020

(B) 10591 = arfufem, 2021

(C) 103at e rffrm, 2019

(D) 102af et rfafam, 2018

Which of the following Indian states has
the maximum number of common
borders with other Indian states ?

{A) Rajasthan

(B) Andhra Pradesh

(C) Uttar Pradesh

(D) Madhya Pradesh

foret srrefer ot 3 & e o ot e

I A T A iy |1 S 2 2
(A) TH (B) FY &N
(C) SR TEH (D) wex W&
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24.

25,

The widest gap across the Western Ghats is
{A) Thal Ghat (B) Palghat

{(C) Khandwa Gap (D) Bhor Ghat
qfFt e ¥ AR-TR gad Hg e d

(A) UTAEE (B) Y@ UR
(C) Wemifam (D) ¥R
Match the following :

Companies Products

a. BHEL 1. Iron and Steel
b. HAL 2. Chemicals
o c SAIL 3. Electricals

d. HOCL 4. Aeronautics
Frataftaa  gafea =
weafat IqE

a. @TEIiTA. 1. @E 3 s
b, TELEUA. 2. WA

c. WLIRW. 3. TfRHA
d. WAL | 4. wRETeE
Codes /%Z 2

‘a b ¢ d

(A) 3 4 ) 2

(B) 3 2 4 i

© 4 3 2 1

o 1 2 3 4

Bhakra Nangal, Hirakud and Kosi
projects are situated on the rivers
respectively

{A) Godavari, Mahanadi, Kosi

(B) Sutlej, Mahanadi, Kosi

(C) -Sutlej, Mahanadi, Purna

(D) Beas, Mahanadi, Godavari

g Time, fUFe 3 AR afed
wE: qﬁ‘ﬁ‘ﬂ'@ﬁ% |

(A) e, TEFE, it

(B) T, TEAE, it

(C) Faer, FEMd, Uil

(D) =T, WEEY, Mgt

26.

27.

6

|

|

|
|
|
|28,
|

|

|

|

|

Brominated flame retardants are used in
many household products like mattresses
and upholstery. Why is there some
concern about their use ?

I. They are highly resistant to
degradation in the environment.

2. They are able to accumulate in
humans and animals.

Select the correct answer using the code
given below :

(A) 1 only . (B) 2only

(C) Bothland2 (D) Neither 1 nor2
HIEHG SaTen He w FE we] IR S
e} ¥R weree & a8 seg R S
21 ¥ St A TR T et wif
g7

1. ¥ qgigom o fafemo & 3= o

14

2. 3 Zmmt ofk sl # b @ 8
o g |

R Ry et 3 4w s

(A) a1 (B) Faa12

(€) 1wt D) maALTH2

‘Social forestry’ term was first used.in
Indiain

WA § “Arnfies aHiemr 92 &1 e A

g |
(A) 1966 (B) 1976
(C) 1985 (D) None of these /
T & 61§ ff

Which day is celebrated as the World
Ozone Day ?

(A) 16% September (B) 20" October
(C) 218 November (D) 12" December

Rreg o e fra Ra wmarsrar 2 2

(A) 16 Tormg (B) 20 I

(C) 21 Fam=L (D) 12 Rawat
104A
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On 31% August, 2021, nine new Supreme
Court judges took oath. Now the number

. of woman judges in the Supreme Court is

30.

31.

104A

31 HAME, 2021 B qETS FATAT B N Y
TSN T Y TN | T TS AR
AT SIeil ! T &

(A) 4 (B) 5

©) 6 (D) None of these /

T

On 1¥ September, 2021, who inaugurated

a parliamentary outreach programme to
empower Panchayati Raj Institutions
(PRIs) in the Union Territory of J & K ?

(A) Shri Narendra Modi
(B) Shri Amit Shah

(C) Shri Om Birla

(D) Shri Rajnath Singh
1 fra=w, 2021 & 99 @ wER
T &3 ° TEEd U wensi @)
F FH F e TudE 9= wriEm W
IguTe fean fean o

A ARFAR  (B) ot g
(C) ot Am Rgenr (D) ft Ty R

-The Indian and Algerian navies

conducted their first ever naval exercise

off the coast of Algeria on August 29, -

2021. Which ship represented India ?
(A) INS Dronacharya

(B) INS Kalki

(C) INS Trishul

(D) INS Tabar

29 3T, 2021 I HeNET % TEAE W

AR T e 6 et go vem

o sreame fonan wan | e T S A

w1 fafritrea fn 2

(A) 3¢ .. TVNER
(B) 3118.UH.UH, Hich
(C) .. uw, Tt
(D) 3. .04, TR

I 32.

33.

34,

On 1% September, 2021, SBI opened a
floating ATM on

(A) Naini Lake, Nainital

(B) Chilka Lake, Puri

(C) Dal Lake, Srinagar

(D) Nakki Lake, Mount Abu

| Rt 2021, @A g Y
R R g €AW, e |

(A) = ¥, Aarer

B) foem #a, T

(C) 3 3|, R

(D) eh! =i, ATSE AT

Ujjwala 2.0 (Pradhan Mantri Ujjwala
Yojana) launched on 10* August, 2021 at

(A) Panipat, Haryana

(B) Mahoba, UP.

(C) Bhopal, M.P.

(D) Gandhinagar, Gujarat

ISell 2.0 (NUFFER ISsaen dNED #
10377, 2021 s yRew )
(A) wrftaa, gieamn

(B) W&, 3.

(C) wure, .9,

(D) MR, T

On 7 July, 2021, which of the following
ministers took oath as new Cabinet
Minister of Heath and Family Welfare ?

(A) Mansukh Mandaviya

(B) Kiren Rijiju

(C) Rajkumar Singh

(D} Dr. Harshvardhan

7 %, 2021 @ = § @ fpa w=h 3

| wTe U UNER HeaTl 3 10 HE B

w9 H 79y 7 ? |
(A) vy wiefemn (B) fortm ffv
(C) TeigaR féig (D) o gat

| o
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36.
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Which of the following pair of Central

Government Scheme and its launching

date 1s incorrect 7

(A) Atmanirbhar Bharat Abhiyan ~ 13®
May, 2020

(B) Mission Karmayogi = ~
November, 2020

(C) Pradhan Mantri SVANidhi Scheme
— 1% June, 2020

(D) Samarth Scheme — 14" May, 2020

20

¥ T H ST T I wET 9

il % Frafefes gut 4 3 9 v ad
7

(A) et sma o - 13 78, 2020
(B) frer Figpit — 20 T, 2020
(C) st Tl AT — 1 5, 2020
(D) & T - 14 7E, 2020

Which State has appointed Sonu Sood as

~ the Covid Vaccination Ambassador ?

(A) Haryana (B) Maharashtra
(C) Punjab (D) Gujarat

8 T 1 B N P desm &
st R R R SRR kv |
(A) sREmT (B) TR

(C) v (D) ToRIa

Whoe has been honoured with the
prestigious 51 Dada Saheb Phalke
Award at 67" National Film Awards
Ceremony ?

(A) Akshay Kumar

(B) Amitabh Bachchan

(C) Rajini Kanth

(D) Vinod Khanna

674 TP feen wER wariE § R
wfafda 519 g7 R Wieh [TEER

- gmha e T R e
(A) FEFFAR  (B) faw o=
(C) T (D) forde @

|

!

8
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38.

39,

40.

Consider the following statements
regarding Krishna Nagar of Rajasthan :
1. He belongs to district Jaipur.

2. He won gold medal in Tokyo

Paralympics.
3. He won medal in Para-badminton
Men’s Singles SH3 event. |
4, He is coached by Gaurav Khanna,
Which of the above are correct 7
(A) 2,3and 4 (B) 1,2 and 4
(C) 1,2and 3 (D) 1,3 and 4
R 3 FOI PR % g9y & Freafiiga

wﬁﬁﬂﬂm:

1. =g g fock 8 waftm € | |
2. FTER o duieftew 4wt ugw
P ,

3, @R Yo-dsficn o9 wE SH3
yferitfivar & ugw St | _

4, o e @ g afere fivem |
ITwE AR AT E ¢

(A) 2,334 (B) 1,234
(€) 1,233 (D) 1,334

el A frr v W elR-frg wadi g ¢
(A) Jefefew = 98: + feaw |

(B) Tt = 39; + arfdrem

(C) Wevd = v + Uy

(D) {reargem = & -+ STgam:

=1 % @ e fresea & mft wsgi & I
T T (SHT) T ERATR ?
(A) FAFOME, FHEHT
(B) wigrimm, reame
(C) YU, AL
(D) e, FT3
104A

41.

42.

43.

45.

- -3y
(A) seF-7g1 - wiRk-g@
B) fr-dm - fmm-mtw 47
(C) IF-3F ~ A}~
(D) anfe-amdt - ama-ffe
o Foree & el e Tt Tt
7
(A) &, T, &t 48,
(B) ferom, wefifs, ugva
(C) T, dgsra, wamfa
(D) &, uftn, wferem
forur ferpeq B faeim g @ 7
(a) e (B) vm-m
(C) wpa-fraga (D) age-waa 49.
Fr=fafiga wedl w faam fifvg
1. SRR | N
2. 9ofmRer |
3. @HU |
4. SARHY _;50
fra e Aot e s d 7 {
(A) 1,233 - (B) 233 |
(C) 33f 4 (D) 134 |
9

104A

BEAT Wt e W =7 IR R 7
(A) o (B) f&
(C) FHur™ @) 7%

o forepe 1 wree 3w w1 37l -9 W) T
27

B

46.

AR R R P 3 & H e g
e - '

(A) TR T59 ool 317t 3 |

(B) MFAI MBS AR FER |
OELEI A cHEEE g

(D) G U NEvTH F1 §

o et % fere srgem wree el 41 8 7
A) R fmasad _ 3
B) I FMFA T - IEaAS

(C) S9&L & =1 &1 99 - qafe
(D) fymer s fem W
A - 3"3‘1?’_
fru foree @ osht wifeaifss wisg &1
ey fa=) R v wf } 7 -
(A) Assent  — F®W

" {B) Defamation — Mg

(C) Informal - afuenfes
(D) Conclusion ~ Y&aT

“<hit & w ggmi.wmémf%
(A) At afem

(B) 3797 greii i qfal W FrRAT

(C) WYY T

(D) Sreafien @ g

. T%a fawew o ‘Adjournment’ g W

Ty - aionRs = adi g ¢
(A) i (B) wfEmn
(€C) F{TH | (D) ®



Read the following passage and answer the
questions given below (51-55) ¢

A private workplace always helps. Jane Austen
asked that a certain squeaky hinge should never
be oiled so that she always had a wamning
whenever someone was approaching the room
wheré she wrote. William Faulkner, lacking a
lock on his study door, detached the door knob
and brought it into the room with him, Mark
Twain’s family knew better than to breach his
study door—they would blow a horn to draw
him out. Graham Greene went even futther,
renting a secret office; only his wife knew the
address and the telephone number. After all,
everyone of us needs a workplace where we
can work on our creation uninterruptedly.
Equally we need our private space {oo!

A daily walk has always been a source of

i, ., inspiration. For many artists, a regular stroll was

essentially a creative inspiration. Charles
Dickens famously took three hour walks every
afternoon, and what he observed on them fed
directly into his writing, Tchaikovsky could
make do with a two-hour jaunt but wouldn’t
return 2 moment early; convinced that doing so
would make him ill. Ludwig van Beethoven took
lengthy strolls after lunch, carrying a pencil and
paper with him in case inspiration struck.
Nineteenth ¢entury composer Erik Satie did the
same on his long hikes from Paris to the working-
class suburb where he lived, stopping under street
lamps to jot down ideas that came on his journey;
it’s rumored that when those lamps were turned
off during the war years, his music declined too.
Many great people had limited social life too.
One of Simone de Beauvoir’s clese friends puts
it this way. “There were no receptions, parties. It
‘was an uncluttered kind of life, a simplicity
deliberately constructed so that she could do her
work’. To Pablo the idea of Sunday was an ‘at
home day’.
51. The passage is about:

(A) how to practise walking

(B) walking every day

(C) the life of a genius

(D) what we can learn from the routines

of geniuses
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52. The writers in the past :
(A) followed a pcrfect daily routine
" (B) enjoyed the difficulties of life
(C) can’t teach us a lot
(D) wrote a lot in books

53. Intheir daily routines :
(A) they had unique life styles
(B} they read books and enjoyed them
(C) they did not get any privacy
(D) they did not mind visitors

54. Some artists resorted to walking as it was:
(A) an exercise
(B) a creative inspiration
(C) essential for improving their health
(D) helpful in interaction with others

§5. To Pablo, the idea of Sunday was an :
(A) athome day
(B) off day

m (C) atamall day
(D) at friend’s place day

an error.
My lawn, which is ovérgrown, needs
weeding.
(A) My lawn
(B) which is overgrown
(C) needs weeding
(D) No error

57. Find out which part of the sentence has
an error.
No sooner did he see his teacher when he
stopped copying.
(A) No sooner did he see his teacher
(B) whenhe
(C) stopped copying
(D) No error :

58. Give Synonym of
Perspicacious
{A) Bad
(C) Hazy

59. Give Antonym of
Dilettante

|

; (B) Clear
I

E (A) Professional (B) Tidy
|

|

l

|

(D) Shrewd -

: (C) Stupid (D) Rapid

60. Give meaning of the following idiom :
A man of straw -
(A) A very active person
(B) A worthy fellow
(C) A reasonable person
(D) A man of no substance

10 _ _ 104A

56. Find out which part of the sentence has

61.

62.

63.

104A

In the followmg letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it :

Prafien sre doft f w0 g i 2
Iue e @ T faeed) § @ we ¥ 3
R g
ab_da_beda_bb_d_a_beed

(A) cacaab (B) aaabbb

(C) ababac (D) aabbce

From the given pairs of words, you have
to select the pair which is closely related
in the same way as the words of the first
pair,

Pen : Paper : ;
(A) Hammer : Wood
(B) Teacher : Principal
(C) Dog: Bark

(D) Knife : Meat

A T2 7=t & gl A F snv! 3@ gm oA
T FE E N TN g ) @ A
e deifira 8

AR B ;

(A)Eﬂﬁ@m (B)ﬁraﬁmaﬁ
©) Fwi: s (D) W Wiw

Choose the group of letters which is
different from others.

JE % 39 TE 1 I W o A v
g

(A) BDF (B) JLN

(C) RTV (D) ACF

Which letter will be 15 to the left of 71
from the left end in English alphabetical
series ?

FA aviaTe e 3w’ BR A 79 I1En
& aRf SR T 1551 AR B B 2
(A) O (B) P

© Q (D) R

Directions (Questions 65 to 67) : Below is
given a passage followed by several possible
inferences "which can be drawn from the facts
stated in the passage. You have to examine
each inference separately in the context of the
passage, decide upon its degree of truth or
falsity and choose your answer accordingly
from amongst the alternatives provided
thereafter,

Dryland farming is the only way to not
only combat recurring drought but also meet
the increasing food requirements of India.
About 45% of India’s total crop production
now comes from drylands. By the end of this
century, this will have to increase to 60% if
India is to provide adequate food for projected
population of one billion by the turn of the
century.

fgm (377 65 67) : 9 T wirede o saw
ST e wwilar frespd R g # S wivesy
frera et @ freeret 1 wepd € 1 IR=Re & wed |
el e ) gum w1 @ i oo 3w
HE YT e BN & Hife @1 fivke G R afk
365 w1 f23 7 forpedt F @ atuet s wr e
HTE |

7 %o I FAE ¥ Py Wy wra
1 et T =i gt 1 ot v avm g
4l e 2 | R & o e 1w 45%
i # R Y @ o B | afe v @ warsd
& 379 @ afta uw faferm e = vt
GE SO A I N WA Felaas @

]

]6 Dryland farming is important for Indis.
l (A) Data inadequate (B) Definitely true
I (C) Probably true (D) Probably false

5 Yt Seft s & fore wewagel 2 |
(A) IR ge  (B) Piffmerdodh
(C) ovaw: @l (D) WA e

i1 | o



67.

69.

70.

India is self-sufficient in food production.
(A) Definitely true (B) Probably true
(C) Data inadequate (D) Probably false
I WTE IFTEA | ST R |

(A) FfPaa wa dudt (B) Gwea: del
(C) It 3 (D) HWad: Tod

In India, the rate of growth of population
is 15 percent per year.

(A) Data inadequate (B) Probably true
(C) Definitely true (D) Probably false
Wi i, s gfg e ad 1sfova g |

(A) 3 3d  (B) 9Fq: @&
(C) Tfea w1 @ ad (D) wwaa: Trerd

A man said, “This girl is the wife of the
grandson of my mother”. How is the man
related to the girl ?

(A) Husband (B) Grandfather
(C) Father-in-law (D) Father

T el 3 FF, g wgeht T o 6 de o
Ieit ¥ 1 ST el A he waRK 8 7
() 9fe (B) TN/
(C) §§< (D) o

If ‘QUIZ’ is coded as ‘RVIA’, how will
you code ‘CLASS” ?

Ife ‘QUIZ’ &Y ‘RVIA® Fiea fean T 8,
39 ‘CLASS’ %1 52 T SRR ?

(A) NCDFQ (B) DMBTT

(C) BMBUU (D) TTBND

A walks 10 m North, then he turns right
and walks 10 m. And then tuming left
each time, he walks S m, 15 m and 15 m
respectively. Now, how far is he from his
starting point ?

(A) Sm (B) I5m

(C) 25m (D) Zero

A T faan § 10 der werar 8, o ag gl
FR gEFR 10 et s # s A i v
e JEHLTE FH: 5 Hie, 15 W aen
15 Tt o § | 379 % 319 o g @

it g ?
(A) 5HIA (B) 15 X
€) 25

(D) A
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71.

72.

73.

Five friends A, B, C, D and E are sitting
on a table. E and B are siting together. E
and C are sitting together. A is on the

 extreme left. B is second from extreme

right. Who is sitting between A and B ?
(A} Only D (B) CandD
(C) OnlyE (D) Cand E
ytg fig A, B, C, D a7 E TF 38 W33
I EanBua WEIETCAAR
FIATI SRR, BCABRATETR |

AT BH AR IS8 ?
(A) HaE D (B) CaUTD
(C) %aAE (D) CTNE

Suresh is older than Jiten but not as old
as Samir, Piyush is older than Nitin but
not as old as Jiten. Who among them 1is
the oldest ?

(A) Piyush (B) Suresh
(C) hten {D) Samir
Tw o & S A wgr ¥ W aEr e

@ | oy hifm & s @ W SR e
W oas e i vad TSI HH 8 ?

(A) drw (B) &
(C) = (D) §iR

Which one of the given responses would
be a meaningful order of the following
words ?

1. Seed 2. Fruit

3. Plant 4, Food

(A) 1,4,2,3 (B) 3,1,2,4

© 1,3,2,4 (D) 2,1,4,3
Freaferfen wed #1 reiget w0 R A =T
AAFTCE T2

| 2. A

3. dm 4. @™

(A) 1,4,2,3 (B) 3,1,2,4

©) 1,3,2,4 D) 2,1,4,3

104A
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74. Which letter will replace the question |78.

75.

76.

77,

104A

mark 7
w3 e 1 SR FF E1 S8R A 2

A)Y
) w

Supply the right letter for the Question
Mark (7} :

TS s1ar & Wod % (7) AT R
CGKOS;AEIMQ;EIMQ?

(A) 8 (B) V

T O U

(D) O

From the given pairs of words you have
to select the pair which is related in the
same way as the words of the first pair.
Music : Guitar ; : :

(A) Water : Tank

(B) Pen: Pencil

(C) Nose : Face

(D) Word : Word Processor

£ T T} % g S W I H A
FT & T 5 wee) Y avE ) el
3

e - fiem s

(A) T T

(B) e : AfF@

(C) 7= - 970

(D) VIeg : 58 T

Choose the odd one out from the given
alternatives.

iy 3 farapodt 8 & Faem B |
(A) 400—16  (B) 200-8
(C) 30012 (D) 50018

(B) L A

A Tt i FHAALLS s Trm—. ok AL

13

79.

80.

81.

Which letter will be 109 to the right of 5
from left end in English alphabetical
series 7 .

i afnrern Soft # 9 9 | 54 AR H
et 3fIe w1 10T S7ER FHF | E 2

(&) P (B) R

© Q D) O

D’s father is B’s son. C is the uncle of D
and A is the brother of B. How is A
relatedto C ?

(A) Son

(B) Uncle

{C) Brother

(D) None of these

D¥ T BHT T # 1 C, D 1 3iFa 8 3R

ABFIVER A CHAFITaftEy?
(A) &1 (B) EA
(C) g (D) 8 A g T

If ‘SOUPS’ is coded as ‘SPUOS’, how
will you code ‘TENDER’ ?

Ife ‘SOUPS’ Y *SPUOS’ Ffea foram
%, @ 31 “TENDER’ %1 %2 &7 &140 9
(A) XIRHIV (B) REDNET

(C) WHQGHU (D) SDMCDQ

Ashok went 8 km South and turned West
and walked 3 km, again he turned North

" and walked 5 km. He took a final turn to

East and walked 3 km. In which direction
was Ashok from the starting point ?

(A) South {B) South-East

(C) North-East (D) East

arsives 8 o, 7. fior <t aecs T e afvew
61 T g TR 3R 3 FRR. e, iR E I
IR Y e T 3 5 e . = 1 SE @

F T anfiad v fomm 37 3 R, =@

31 v g & areives v e R 3 e 2
(A) T ®) -
(C) F-Td ®) @

. = |



82.

83.

84.
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Six plays P, Q, R, S, T and U are to be
staged from Monday and ending on
Saturday, not necessarily in same order,
Play R is staged on Tuesday, Plays P, U
and Q are staged one after the other in
same order. Play S is not staged on
Monday or Wednesday. Which piay is
staged after R ?

B: S P, Q, R, S, TT& U Fl, T &I
6 zeit oh A, WiwaR § 3ig § wiEOR 96
wreRia T & | T R AER F B3,
AEH P, U 71 Q Tk & w1¢ T ) 3 o
TeRiT 63 T | e § WET ST
gear H yef¥fa T8 fear | R & wR

B W TRH TERE T
(A) P (B) S
© Q (D) T

If white means black, black means red,
red means yellow, yellow means orange,
orange means green, green means violet
and violet means blue, what is the colour
of human blood ?

(A) Red B) Yellow

{C) Blue (D) Green

I, TT T 31 & R, W‘é’f‘qﬂ BT,

aet w1 39 & e, dien 3 § T,

m@ﬁwaﬁi%?{ﬂ,ﬁmw&waﬁt
el ot o5d & fien, i Em T T R 2
(A) Ed (B) e

(C) am D) 7
Which one of the given responses would

be a meaningful order of the following
words ?

1. House 2. Road

3. Room 4. Hamlet

5. District

faraferfian wedi = arefyul s 23 3 S
Y B @B B 7

I. W 2. €%

3. ®AU 4. T

5. forem

(A) 3,1,4,2,5 (B) 3,1,2,5,4
(C) 3,1,2,4,5 (D) 3,2,1,4,5

fram

85.

14

RT-1
-1
I
-1 38 Fem o sl awm g

Sutiaa =it # srafa Pt % s e v
# T 73 frarw & forw 3ugea o 3md W

Directions (Questions 85 to 87) : Study the
following information to answer the given
questions :

A word arrangement machine when given an
input line of words, rearranges them following
a particular rule in each step. The following is
the input and the steps of rearrangement.

Input
Step-I
Step-11
Step-111
Step-
As per the rules followed in the above steps,

find out in the given questions the appropriate
step for the given input.

PEm s 87) : AN THI F WA Y
Frfafas e 1 areem &

= & R uefl 9 o v F FEm @
9T ¢ 9 g w9 | o fafre fem oW
FTET ST I G- Srafea e B | fer g
shgromerFam |

: but going for crept te light sir
: crept but going for te light sir
: crept going light but for te sir
:- crept going light but for sir te
IH is the last step for this input,

: but going for crept te light sir
: crept but going for te light sir
: crept going light but for te sir
: crept going light but for sir'te

if the input is ‘true se veto be nuke my
like’, which of the following will be Step-
IV ?

2 789  “true se veto be nuke my like’,
Fefafga A a s @ =w-1vam ?

~ {A) like nuke true veto be se my

(B) be my like se true veto nuke
(€) be my se like true veto nuke
(D) veto true nuke like so be my

104A

- 86.

87.

88.

-89,

104A
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Input : more fight cats cough sough acts
idea

Which of the following steps would be
the last step for this input ?

9% : more fight cats cough sough acts

idea

fraffarsmia s o Fan s fm
sifem = 8m 2

(A) 11 B) IV

© Vv (D) VI

If the second step of an input is ‘clever
remand window sales batch tiger never’,
which of the following will be its sixth

- step ?

ﬂﬁﬁ?&ﬁﬁ%ﬁlﬂ@ﬂw% ‘clever

remand window sales batch tiger never’,

Freferfiaa & & goeht To T ATEW ?

(A) window remand clever sales batch
tiger never

(B) clever remand window batch sales
tiger never

(C) batch never sales tiger clever
remand window

(D) It cannot have sixth step. /

TEH1 BT =0 A& B FE |

In the following question, find the
missing number :

ﬁw%f@ﬁmﬁgtaﬁwmﬁ;

30 112

YO

(A) 66 B) 62
D) 76

(272-32)(124 +176) _,
17x15-15

(A) 300

(©) 124

(B) 272
(D) 196

90.

91.

92.

9

93.

T, TR R b ekt Uk AmliAl i iAS AL at

15

Find the average of square of first six
natural numbers.

ygeht B, il gemet & ol @1 sfwa
TEH |

(A) 11.17 (B) 15.16

(€) 17.20 (D) 13.70

A bag contains 1 rupee coins, 50 p coins
and 25 p coins. The number of coins are
in the ratio of 2.5 : 3 : 4, If the total
amount is ¥ 420, the number of 50 p coins’

is -
T A 1w, 50 e awr 25 00 %
g\ Rmifdwn25:3: 4% U A
L mfa?auﬁr? 420 %, soﬂﬁ%ﬁm‘i
) e 2
(A) 332

(C) 454

A cylindrical vessel of radius 4 cm
contains water. A solid sphere of radius
3 cm is lowered into the water until it is

completely immersed. The water level in
the vessel will rise by : -

s AR ar Freeht B 4 At 3 urft
W & ) v 3 e Rt Breen 3 wft
o o % 6 o T oW 9 R 9w
g T T | T A T S e

(B) 222
(D) 252

9 9
(A) zcm (B) Ecm
(8] g-cm {D} %cm

If 2 man spends ¥ 875 per month and

saves 12-;—% of his income, then what is
his monthly income 7
afz wp et Wi g € 875 @Y w #
iR sl R F 1,25%' 1 saa T 2,
A Toeh wifres AT TR 2
(A) T 1,000 (B) ¥ 1,100
(©) 71,110 (D) T 1,010

[n ]



94. A certain sum of money becomes three

95.

96.

(A) 4n® years

(C) 63.2T%.om

times of itself in 20 years at simple
interest. In how many years does it
become double of itself at the same rate
of simple interest ?

(A) 10 years (B) 12 years

(C) 9 years - (D) 11.5 years
YT S W O ffeaa awafin 20 ad 5
- o frrn g e @ | s mar e
W AR fre ol F R grm i 2 2

(A) 1099 (B) 129§

€y o8 D) 11574

At compound interest, if certain sum of
money doubles in n years. The amount
will be four fold in

(B) l112 years
2
(C) 2n years (D) %n years

gl T R, i e vrufi nad
T BT 2 Ul A o End

(A) 4n*=d T

(C) 2nadd (D) %n THH

If 45 m of a uniform rod vifcighs 171 kg, i 100.

then what will be the weight of 12 m of
the same rod 7

(A) 45.6 kg B) 50.3 kg
(C) 632kg (D) 33.9kg
afe 45 diex $ wHOYE B2 FT T99 171
.. B, Aisdi e H 12 flase Fraew

foraT 8 2
(A) 456f5m.  (B) 503 fw.m.

(D) 33.9 fe.m.

|
|
1
|
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97. A trader sold a mobile phone set for

98.

| ’
(B) on iR 199.

"% 13,560 with a discount of 12 percent

and gained 21.8 percent. If no discount is
allowed, then what will be his gain
percent ?

qmarrqmﬁuafamgg#m? 13,560

A Wi B 9 G491 3R 21.8 Sfasra o
form 1 afe ¥ e+ & ot B, o s
T =T Wi 7 Em 2

(A) 26.5% (B) 42.5%

(©) 46.5% (D) 38.4%

If the cost price of 10 articles is equal to .

the selling price of 7 articles, then the
gamn percentis _
A% 10 wgsit <ht AT P, 7 TRgI A
fara ima & a2, @ ey sfoem #
(A) 33.33% (B) 21.33%

6

(C) 51.33% D) 427?-%

8+4(3~2)%x4+3-7=7

(A) 4 ®) 9
© 11 (D) 3

The difference between the length alid
breacdth of a rectangle is 23 m. If its

_perimeter is 206 m, then its area is

(A) 2840 m? (B) 1250 m?
(C) 2520 m? (D) 2240 m?
T 3d <h) wiaTs aun < % e 23 e

T AT R | R et TRE 206 Wi B,
N T e B N
(A) 2840 i fier  (B) 1250 =9 Hiex

(€) 2520wt (D) 2240 & Hiex

104A

e s A eyt Y = 2 o g it fevt

101.

102.

(A) 65 paise (B) 55 paise
- (C) 50 paise (D) None of these
IR FS & Fa F 20% TTAT TG B,
et uftr 2 10 3 5 % i Wik ERT
£ 1 T FS i wfrs S ot 2

(A) 6587 (B) 55%&

(C) 509 (D) TH ARE T

103.

(© 108

The length of a rectanglé is increased by
10% and its breadth decreased by 10%.
The area of the new rectangle :

(A) remains constant.

(B) is increased by 11%

(C) is decreased by 11%

(D) is decreas.ed by 1%

TS ATIT Y T B 10% T T a
G eTE T 10% TN | T I
1 AR

(A) THFEHT @Al R |

(B) 11% S A& |

(©) 11% THRE |

(D) 1% TR AR |

If the price of banana is decreased by
20%, 5 bananas more can be purchased
for the same amount ¥ 10. What was the
initial price of one banana ?

10 men can finish a ptece of work in 10
days, whereas it takes 12 women to finish
it in 10 days. If 15 men and 6 women
undertake to complete the work, how
many days will they take to complete it ?

(A) 9 days (B) 5 days
{C) 10 days (D) 13 days
10 J%9 T T4 & &6 9 10 fem 3§ i o

T E, st @ 10 &7 A i w6 & fag
12 AfgensAt it AEwawa Ad 2 | R FE
Tt A 1 ST 15 TEA AT 6 AR 3w
& i el ot e 9 9 Tpem fom i ¢
(A) 9t B) 5T

(D) 13 A

104A
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The average of 5 consecutive even
numbers A, B, C, D and E is 52. What 1s
the product of B and E ? _

5 FHTTA §9 WIS A, B, C, DWE ™

aee 52 8 | B N E 10w a3 2

(A) 2900 (B) 2700
(C) 2810 (D) 2800
If V be the volume and S be the surface

area of a cuboid of dimensions a, b, ¢,

then lisequalto

v
Elﬁa, b,caqmmis'aqm T AT V 3R
@WS%,W%WW%

(A) 28(a +b+2¢c) (B) S(a+2b+2c)

©) 3(3—+l+l] (D) S(a+2b+3¢c)
Sia b ¢ | '

A hard disk is divided into tracks, which
are further sub-divided into

(A) Heads (B) Vectors

(C) Sectors (D) Cloud

s B e = S o faafra R wmen
2, R o - e s 2 -
(A) ST d B) dwed d

(C) dmii (D) TS A

In a computer keyboard the Ctrl, Shify,
Del & Insert Keys are known as
(A) Special keys
(B) Function keys
(C) Standard keys
(D) Navigation keys
T wegel FiEE # Cul, Shift, Del 3t
Insert 5&{&}[ Y AT R -
(A) RfEER . (B) s FA
(C) AFH TS (D) HEEH g0
o
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Computer Monitor is also known as 113.
FER AL H _ Hww A omn
IR

(A) DVU (B CCTV

(C) UVD (D) VDU

You organize files by storing them in

(A) Folders (B) Archives

(C) Indexes (D) Lists

3T H gern
=afem A g |

CVR (B) ezl 114,
(©) s (D) et

MS-Word is an example of

(A) AnlInput device

(B) Application software

(C) A processing device

(D) An Operating System
MS-Word T JgTgw &

(4) FRm e

(B) THAISM Bieaat 1

(C) v gfaa &

(D) YETER T3 &

Which is the Linux Operating System ?
(A) Private Operating System

(B) Windows Operating System
(C) Open-source Operating System
(D) None of these

B A1 feaa TeeR a2 2

(A) WIgA TETEH ax '

B) R ==

(C) F-9d y=re= &

(D) Tl & i 7

Which of the following is not considered
as a hardware ?

|
|
i
|
(A) Operating system i
|
|
|
|
!

116

(B) CPU

(C) Keyboard
(D) Hard disk
oo 4 & o5l we wrdam & &9 3 i wen
Sar e ?

(A) =T a3
(C) e

®) #.9.7,
(D) TR =
18

- (A) Local Area Network

115.

. Which of the following programs enables

What is the maximum length of the base
filename in older MS-DOS FAT file
system ?

WA MS-DOS FAT %F@ Jorreht § 39
H1ge T <t ey s wT A 29
(A) 4

B) 5

©) 8

(D) None of these / $78 & w1 7d

LAN stands for
LAN sqi&qd

(B) Large Area Network
(C) Land Area Network
(D) Line Access Network

What is the meaning of Booting in the
operating system ?

{A) Restarting computer

(B) Install the program

(C) To scan
(D) To turn off ‘
T T 3 e B A TR 2 '
(A) FOHR I TRL &

(B) W™ A HEAT

(C) TR HA

(D) SEFHTN

you to calculate numbers related to rows
and columns ?
(A) Window program

(B) Spreadsheet program
(C) Graphics program

(D) Word program
a3 @ = a1 T A O 3 ®em

F et 6 TET B H g a2
(A) gimm (B) WiEvfie Tum
(C) Wik W (D) € Yo

104A

117. Which type of view is not present in
MS-PowerPoint ?
(A) Extreme atiimation
(B) Slide show
(C) Slide sorter
(D) Normal

MS-PowerPoint ¥ foF TR T = ()
IoeTey T R 7

(A) tady =T (B) WIS

(C) Wggdi& (D) W

Microsoft Office SharePoint Designer is

used for

(A) A WYSIWYG HTML editor and
web design program for customizing
SharePoint applications, it replaces
Microsoft Office FrontPage.

(B) Project management software to
keep track of events to create
network charts and Gantt charts.

{C) Diagram and flowcharting software.

{D) None of these

HIEFER AfRE i e W%

for swaim e 2 - '

(A) & WYSIWYG HTML @ iR
Yt VAR Y FRARA A F
o 3w fama v, 97 AR
ST el ST A S R |

(B) fizar¢ H Aeash aré %! 7 % forg
TS 1 3 T 1 TRAIS JE9A
afaT

(C) ™ 3R U &1 FIRadT

(D) T & &1 48

Which of the following is not true about

RAM ?

(A) RAM is a temporary storage area.

(B) RAM is the same as hard disk
storage.

(C) RAM is volatile.

(D) Information stored in RAM is gone
when you turn the computer off.

mm%ﬁqﬁmﬁﬁwmqﬁi ?

(A) RAM U 3Tt Werw 87 2 |

(B) RAM %€ 1% Werw & #um & 2 |

(C) RAME 2 |

(D) RAM# “Sﬁ’(ﬁ T e el 2w
FAAFGA I G I A |

118.

119,

104A

120. Which of the following is sn example of
an input device ?

(A) Scanner (B) Speaker
(C) Projector (D) Printer
grl:rﬁﬁ ®1 W v, Faw gfda w1 semm
?
(A) &R - (B) W
(C) TRF (D) firx
121. In Rajasthan, the post of Governor is

successor to the Raj Pramukh. On 30%
March, 1949, when Greater Rajasthan
State was constituted, who was made the
Raj Pramukh ?

(A) Sawai Jaisingh

(B) Sawai Mansingh

(C) Maharao Bheemsingh

(D) Maharana Bhupalsingh

THIR ¥ T %1 W TEE F
IoEdl & | 30 W, 1949 W, 99 984

TR T 1 T8 RbaT T4, 7 o
o8 s T
(A) gaTs St
(B) a3 ATfE
(C) werra g
(D) WERTT UARE
122. Consider the following statements with
reference to Lokayukta in Rajasthan :
1. Justice LD. Dua was the first
% Lokayukta of Rajasthan.
2. Lokayukta shall not indulge in
I business.

19

3. He should be a member of
Parliament or Legislative Assetnbly.
Which of the above are correct ?
o & SiEgE & aaﬁ i Fafafa
mﬁr—h W FREm iR
. ard B 3T T H FW

2. ﬁm@ﬁwﬁmﬁa'—lﬂﬁtml
3, 9% WUE A1 AR aw % 9 g

e |
T A AR E ¢
(A) 1,2,3 B) 2,3
©) 1,2 ) 1,3



123.

124.

Which of the following pair is incorrect ?
(A) Meenakari - Jaipur
(B) AjrakhPrint -~ Sanganer
(C) Teracotta Art — Molela
(D) Thewa Art - Pratapgarh
frefafga @ S wmyw gAfra adi & 7
(A) et ~ AR
(B) 3@ fie - @R
(O Twafes - e
(D) &arwen ~ AT
Which of the following is not correctly
matched ?
Tourism Place District
(A) Bhatner Fort -~ Hanumangarh
(B) Menal — Ajmer
(C) Osian ~ Jodhpur
(D) Kailadevi temple - Karauli
- affee d g s T g ¢
W e R
(A) wewr g - EUETE
(B) e ~ 3THW
(C) nfyat ~ YR
D) o m e - wi<h
In 1903, who imposed ‘Chanwari’ across

1285,

(C) Kesari Singh

his jagir holdings, which everyone was
expected to pay at the marriage of their
daughters ? _

(A) Rao Krishan Singh

(B) Rao Prithvi Singh

(D) Bhoop Singh o

¥ 1903 # frem oram wrfie g A Sl
TR, R e Y averdt gt & Ry
Fowa T onfimen ¢

(A) TIFOIE  (B) T TaRE
(©) Fatfiz (D) ufdiE

Join Telegram Group '
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127.

128,

|
|
o
|
129

Read the following facts about the Vijaya

Stambha (Victory tower) of Chittorgarh :

1. This is popular that it was built by
Maharana Kumbha.,

2. Ithastotal 11 storey.

3. There is 2 statue of Jaita carved in it,

Of the above, correct facts are

Fadiene & o<y & aR 4 fe qwi i

i : o

1. % vig ® &5 W wmrmon o0 3
T T |

2, FTERFTIARNSE

3. T SarH off s )

I E B uE A E

(A) 1,2,3 B) 1,2

(€) 2,3 D) 1,3

Which of the following are the

contiguous districts of Rajasthan ?

(A) Jhalawar, Bundi, Tonk

(B) Sirohi, Pali, Jalore

(C) Churu, Jhunjhunu, Jaipur

(D) Sirohi, Barmer, Jaisalmer

Preafafga 5 490 A ToRm F e R
27

(A) TR, 44, T
®B) T, wredt, s

(C) I¥, I, X

(D) Ty, arene, Jaerr

The constitutional status was given to
Panchayats under article :

f5u arede % deq vTEEl ® Yduis
gt femn e ¢

(A) 227
(C) 241

(B) 243
(D) 221

. The famous saint of Medieval Mewat was :

(A) Charandas (B} Laldas
(C) Hariramdas (D) Sundardas
TR A BT % Uftg @ o

(A) TR (B) deweE
(C) FFame™ (D) Heie™

104A

- e i

130.

131.

éHaryanaJc')bs.in"

According to the census 2011, which of
the following district of Rajasthan has
maximum tribal population ?

(A) Udaipur (B) Jaipur

(C) Bikaner (D) None of these
SO 201 1 o O, P 3 A oo %
i § e o siitreran e sHesa R 7
(A) 39X B) R

(©) HrEm (D) 7 & wré Tl
Who is responsible for planning and

implementation of Mahatma Gandhi
National Rural Employment Guarantee
Scheme ? '

(A) State Government

(B) Gram Panchayat

{(C) Gram Sabha

(D) District Rural -~ Development
Authority (DRDA)
TR e T AT Jsee e A

* AT I TrraEa F fau =W
FaTaER ] ?

(A) U9 "HER

(B) T U@

(€) @

(D) frem ynhor frsra TR (DRDA)

132.

104A

B)
(O 1,2,4,3 (D)

Following battles are mile-stones in
History of Rajasthan :

1. Battle of Khanwa

2. Battle of Bhatner

3. Battle of Sumel-Giri

4. Battle of Haldi~Ghati

Arrange these battles in correct datewige
chronological order and choose the
correct answer :

fRefefiaa g voeu & shem o @

g

| GFATHGE 2. WERE IR

3. ge-Piw gg 4. A= g8
1 I35 % wdl fifsen 3 e g, w9 S

Cakpoinrics i
(a) 1,2,3,4

5
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133.

134,

(C) #i,

135,

(C) S YU R (D) WA 98 g1

Which of the following Rajput Sardars
fought with favour of Rana Pratap in the
battle of Haldighati ?

1. Ram Singh Tanwar (Ram Saha) -
2. Bida Jhala

3. Rawat Krishandas Chundawat

4, Madho Singh Kachwaha

Choose the correct answer from the given
codes :

(B) 1,2,34and 4

(A) 2and 4
(C) 1,2and 3 (D) 1and3
Frfafen # 9 19 8 ToTgE TRER geal
FIEAWMATEFIH AR Y ?
1. taligdw (mamEn)
2. Ry ETen
3. TS HIE YUEEd
4. e HeA
fed 73 g2l ¥ anuR w ud I E
Hire: o
(A) 2 4 ®) 1,2,3T4
() 1,2w@3 (D) 1@3
Name of birth place of Tejajiis
(A) Khadnal (B) Asind
(C) Kolu {D) Dadrewa
TS oh T T & AW B
(A) E$TA (B) rmHie
(D) T&

Phooldol festival is celebrated by
(A) Vallabh Sect (B) Ramsnehi Sect
(C) Satam Sect (D) Parnami Sect

“GEE IqT AT e
(A) TN FT  (B) TN 9 GRT



136. Which Article of the Indian Constitution

137.

138.

139.

deals with the appointment, tenure,

- responsibility, qualification, salaries and

allowances of the ministers of State 7
(A) Article 162 {B) Article 265

(C) Article 164 (D) Article 207
WG U™ 1 9 a1 IT=0g T $

W @ P, s, R,

e, 39 i A dERE @ 7
(A) 3T 162

(B) T3 265
(C) FTWT 164 (D) 3135H< 207

In Rajasthan, how many Legislative
Assembly Constituencies are reserved
for the candidates belonging to the
Scheduled Castes and Scheduled Tribes
respectively 7

T i e R s g - &

sgem sift SR gl i %

Feftean & for mfera & 2

(A) 34,25  (B) 25,34

(C) 36,23 (D) None of these /
g A =re°f

The subject of ‘Mundiyar Ri Khyat® is
(A) Hadas of Bundi

(B) Sisodiya of Mewar

(C) Rathores of Marwar

(D) Chauhan of Sirohi

TR e s Rma g -

(A) s T

(B) A=T¢ % Rrafen

(C) TRER & Wi

(D) R+ em

Rajasthan Information Commission is
established on

(A) June, 2004  (B) April, 2006
(C) May,2008 (D) April, 2009
TSTEIT G AT ohY TomaqT g

(A) 5T, 20041 (B) ard, 2006 !
(C) %8, 2008 ®FF (D) ardet, 2009

o
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141.
- honoured by

142,

140, Which of the following pair of different
- stages of unification of Rajasthan and

relevant dates is incorrect ?
Stages of
Unification
(A) Second Stage- 25 March, 1948
(B) Third Stage — 235 March, 1949
(C) Fourth Stage — 30 March, 1949
(D) Fifth Stage — 15 May, 1949
TUT TR 3 Fofir <ot v e
faRe w1 s A Y sE TR R W R ?

T T it

Loy
(A) T — 259, 1948
(B) gfa=tw  — 2597, 1949
(C) mgd=tor  ~ 30U, 1949
(D) dgm w1 15 A, 1949

Dates

1

Who among the following of Rajasthan is
Padmashri  award
announced in 2021 ?

(A) Arjun Singh Shekhawat

(B) Lakha Khan

(C) Shyam Sundar Paliwal

(D) All of these

92021 iy ‘aegnsht’ s @ Tee

4 Frd gemfe e man 2
(A) FRE draa

(B) &I/@ @M

(C) TEYT aTeATaTe
D) Fah

Who is appointed as Chairman of

Rajasthan Human Rights Commission in
January 2021 ?

(A) GK. Vyas

(B) Mahesh Goyal

(C) Banwarilal Sharma

(D) None of these

TAEh 2021 ¥ Rl ToreuT AEETvR

ST e g e T d
A) Ak w=mm  (B) B
(C) warlien st (D) T 8 i e

' 104A

143,

144,

145,

146.

Which of the following edition of Jaipur
Literature festival was organised from
19 to 28 February, 2021 7

g At beem F F d a s w
TR 19 ¥ 28 B&Ed, 2021 &I SRR
I ?

(A) 14 (B) 15

(€) 12 (D) 13
Revolutionaries of which place of
Rajasthan gave slogan ‘Chalo Delhi !
Maro Firangi’ (Go Delhi t Kill
Britishers) ?

(A) Neemuch Cantonment (barracks)
(B) Naseerabad Cantonment

(C) Khairwada Cantonment

(D) Erinpura Cantonment

Tt Teett | Ay TRt 1 <1 R T
¥ Fal % w3 o

(A) frgsel (B) vdivag s

(C) Q@ sraft (D) Ay Bl

Ramnath Chaudhary is associated with
which musical instrument 7

{A) Algoza (B) Pungi

(C) Dholak (D) None of these
TR E T frr T AR 7
(A) It (B) wh

(C) B D) ]

Which among the following statements is

wrong about great poet Suryamal 7

(A) He described the history of Bundi.

(B) Bravery feelings have emerged from
his poetry.

(C) He was the resident of Mewar,

(D) Vansh Bhaskar was his famous Epic.

A PSR ifaiasam

FYATATE 7

(A) @ﬁiﬁ%gﬁgmwaﬁﬁmt

(B) Thl i & gTgl ! WA 1 368 |

BEl
©) %ﬁm%ﬁmﬁs}l
(D) I WIS 351 Wiig 7EmeT B |

104A
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147.

148.

149,

‘Gulabo Sapera’ is famous in which field ?
(A) Folk Singing (B) Folk Dance

{C) Mukhia (D) Sports
Trerre a0 fra e ey afig R 7
(A) ¥ T (B) ¥ T
(C) gfe (D) BF

If the Chairman/Member of Rajasthan
Public Service Commission intends to
resign, then he/she will give hlsfher
resignation letter to :

(A) Prime Minister (B) Governor

(C) Chief Minister {D} President

gfe TR e Har AWM W
S1eaE /ueE gei%T &1 wTEd B, 6 9%
A wm - ReR 2 7

(A) wuEEH (B) TSAUEH

(C) Jewt (D) TEafa

Name the personality who is also known
as ‘Abhinav Bharatacharya’.

(A) Maharaja Jaswant Singh -1I

(B) Maharana Kumbha

(C) Maharana Pratap

(D) Nagabhatta-I
39 fFe %1 7 sany 3 5 ‘ofme

W FAm A A amg |

(A) WERIS FEAEE-11

(B) WERI T

(C) HgIon ¥y

(D) AFTHE-I

Arrange the heights of following peaks of

Aravali mountain range in ascending
order :

a. Jarga b. Ser

¢. Delwara d. Guru Shikhar
I yeraaren sy e =it @ deud
& §¢d H § ey wl

a. WM b. &

c. Remgr 4 RmR

(A) a,b,c,d  (B) acb.d

(C) c,a,b,d (D) a,d,b, ¢
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